Name

Date Class
Chapter Test
3l Form A
Select the best answer. 6. Simplify - 1 2T
1. Which equation is best represented A x+ 1 c X+ 1
by the statement “x varies jointly with 1—x
yand z”? B Xx+1
_ _ k x—1
A x= kyz B x= yz
7. Which of the following is

. Pvaries inversely with Q, and P = 12
when Q = 8. Find P when Q = 3.

A2
B 32
C 96

. Based on the data set, which statement
is true?

A 10 3 15
B 5 8 10
(o 3 16 4

A A varies jointly with B and C.
B B varies jointly with A and C.
C C varies jointly with A and B.
6x — 18  x* +5x+ 6

. Simplif
pyx2—4 x2 -9

_6
Ax—2

B Sx+12
X —Xx—6

. Find the solution set for the equation
X*—6x+8 _ g

xX—2
A {9}
B {2, 9}
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10.

11.

L)
T-%

X — 1 X
A% Cx—1

equal to

X
Bx—1

. Ted walks from his home to the post

office at an average rate of 3 miles per
hour. He then walks back at an average
rate of 5 miles per hour. What is his
average rate for the entire trip?

A 3.6 mph

B 3.75 mph

C 4 mph

. Which function is continuous?

A Alx) = —X
1+ x

B B(x) =X
14+ x

3

3x — 12

Identify all asymptotes of f(x) = R

A vertical asymptote: x = —2;
horizontal asymptote: y = 3
B vertical asymptote: x = —2;
horizontal asymptote: y = 4

Which function has a hole in its graph?
AAx) =X —4x+4

x° — 4
2
BB(X)=W
xX-—4
2
CBx)=X_—4x+t4
xX“+4
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Name

Date Class

Chapter Test

8 Form A continued

12. Which of the following could be the
equation for the graph?

P
L—
A a(x)=X+t2
X—2
_Xx—-2
B b(x) T2
_2x+ 1
C dx) = YD
13. How many solutions are there to the
- 2 4
equation + =17
a x+1 x*—1
AO
B 1
Cc2

14. Working alone, Machine A can produce
1000 widgets in 6 hours. Working alone,
Machine B can produce 1000 widgets
in 9 hours. How long will it take the two
machines to produce the 1000 widgets
if they are both used at the same time?

A 3 hours and 36 minutes
B 3 hours and 45 minutes

\V xy® ’

15. Which expression is equal to Xy

A X% y%

3 5
B X2y2
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16.

17.

18.

19.

20.

Which is equal to 10?
A (V10) (V10) (v/10)
B (V10) (V10) (V10)

Which could be the equation for
the graph?

A
Y

4——/

A alx)=Vx-5-2
B b(x)=V5—x—2
Cdx)=-Vb—-—x—-2
Solve V5x — 2 = 2V2x — 5.

A x=-8
B x=6

Which is an extraneous solution
toV3x+ 1 =x-3?

A x=1

B x=5

C There is no extraneous solution.
What is the solution set to the equation
x—3 = (5x—1)2?

A {10}

B {1, 10}
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Answer Key Algerbra 2

CHAPTER 8

Chapter Test Form A: Multiple Choice
1. A 11. A
2. B 12. C
3.B 13. B
4. A 14. A
5. A 15. A
6. C 16. A
7. C 17. B
8. B 18. B
9. A 19. A
10. A 20. A
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